| Jet pT resolution using RMS, 0.0<|n|< 0.5 |

n
|+||

| Jet pT resolution using RMS, 0.5<|n|< 1.3 |

+ 7

Jet pT resolution
+

o
[y

T T T [T [T [T T [ T [T T T
¥

:
=

[Jet pT resolution using RMS, 1.3<[n|< 2.1]

on
+|

0.22

solut
o
N

o
- 0.18

o
£0.16

5
0.14
0.12
0.4
0.08
0.06
0.04
0.02

+. 0

:
1
-

S
S50.18F
fosp ~
So1af . -
2012? -
o1 *h‘;_
0.08F -
0.06f- et
0.04f +
0.02F
Fo T e
=R
® I
0.95

10?

10°
GenJet pT (GeV)

| Jet pT resolution using RMS, 2.1<|n|< 2.5 |

T
+ +

0.95

10?

10°
GenJet pT (GeV)

| Jet pT resolution using RMS, 2.5<|n|< 3.0 |

0.95

10?

10°
GenJet pT (GeV)

| Jet pT resolution using RMS, 3.0<|n|< 5.0 |

o©

)

a
T

+

+

Jet pT resolution

©
(S

0.15

+

+

s +

—_—

L LA LA L L LA AL LAR) AR LAk L
t

Ratio
r
. .5’

1

-

E

0.95

3

+++++H,LH‘

10
GenJet pT (GeV)

S 03 4
2
go2sk
= C +
o L
3 o2F +
[ -+
0.15F -
L -
I -+
0.1 ":*++.+
0.05F +
‘9“@5. Lol NPT | Lo
T
£
CTETETTT T
0.95k

102 10°

GenJet pT (GeV)

+
}
—

0.1

0.05

Ratio
_&

il
|

:

102 10°

GenJet pT (GeV)




	Contents
	Page 1


